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~0.05
8 8 | +0.030 | 14 105 105 117
0 ~0.020 +0.07 ~0.14
10 10 16 | -0.070 110 10| 0 122
12 12 18 120 120 132
14 14 | +0.035 | 20 125 125 137 2
~0.060
16 16| 0 2 130 130 142
~0.025 ~0.165
18 18 24 140 140 152
~0.085 +0.08
20 20 26 150 150 | 162
2 2 28 160 160 172 +0.15
+0.045
25 25 31 170 170 186
0 15 | 0.1
28 28 34 180 180 196
~0.075
30 30 38 190 190 206
~0.032 ~0.195
32 32 40 200 200 | +0.09 | 216
~0.100 25
35 35 43 220 20| 0 236
36 36 | +0.050 | 44 250 250 266
40 40 | 0 48 280 280 296 | -0.090
45 45 53 300 300 316 | -0.225
+0.10
50 50 58 320 20| 344
55 55 63 340 340 364
~0.040
56 56 64 360 360 384
~0.120
60 60 7 380 380 404 | -0.105
63 63 | +0.060| 75 400 400 424 | —0.225
65 65| 0 77 420 420 | +0.12 | 444
70 70 82 450 450 | 0 474
75 75 87 480 480 504 3 +0.2
80 80 9 500 500 524
2 | 2015 ~0.120
85 85 97 530 530 554
~0.050 ~0.260
90 90 02| o 560 560 | +0.14 | 584
95 95 | +0.070| 107 | 600 600 | 0 624
0 630 630 654
~0.130
100 100 112 +0.15
650 650 | 674 | -0.280
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